OJAFGE f(x) = x% — 2x - 3 °lIA £(2) + £(0) o] FH2?

D 0 @ -3 ® 3 @ -6 ® 6



2. oI f(x) = % - 2x+ 3 o Hi5t Hh F A 92 A2?

D f(0)=3 @ f(-1)=6 ® f(1)=2
@ f(2)=3 ©® f(-2) =7



o]
ﬂo
o
ma
o
n
11
o 7T
° B
™ To
e
N w_a
y
mn o
H s
[y
_l_ ,un_
of K
8 o
0
N
[
y N~—
- "
TR
_ —
XN
CECS



H o

o,
ol

= -3 o Y nE x FY VI 3 TF
p.=3) = g, p 9] gh= Fshei=t

oft






6. 92 5a>0b>0c>04 M, olATry =ax®> +bx+c 9
EEEEE PRIy

@ @

Y Y
X Oz
Y



oty = ax? + bx+ ¢ 9 27} o

.a, b, ¢ & F & 7517

b>0,c>0
b>0,c<0
b<0,c>0
b>0,c>0

b<0, c<0




ozttt y = a(x - p)? + ¢ & AHZ7 3 TS W, a,p,q 9
B25E?
yl\
[ 9V
® a>0,p>0,g>0 @ a<0,p<0,g<0
® a>0,p<0,g<0 @ a<0,p<0,g>0

® a<0,p>0,g>0



o]&<t Aot

1]
@ # (0, -2)

o

ko]

g]

MK
o

P,

by o 3= %

S

@ x>-1¢Y o, x 3ol S7F




10. oAk y = —4(x + 3)% O] T LA x O] Fho] T/ uf, y 9
e S7Foke x o Hel=?

@ {x]x<-3) @ {x|x>-3) @ {x]|x<3)
@ f{x|x>3) ® {xlx<3)






12.

-

Q <

=3(x-1)? -39 2Ty = 3529 I TE x
T, y SO WRko R puE PaPolEet g mojtt

Stofet,

A

- 1o

R



13. Blo| 5ol oJslo] A y— —%xQ +3 0] Jejme} gds] EAfo]

AlE A7

rr

1
@y:—§x2+5 @ y=2x2 @ y=-2x*+3

1 1
@y=§x2—3 @y=§x2+3






15. oJAggy =322 & D ZE x FO| YFo 2 27T, y O WFe
= 5 9rE Baolset I Zof Aol y =ax? +bx+c d W, a+b+c
o] Ft= otofet

5 L
=%



®7



H2 oAt y = a(x - p)* + ¢ & L Zolr}, o
et 4 & &2 A2
yl\
§
1 L —
1 >
@) 2 T

® y9 39

%

=y <10t



18. o5 &0 I Fo A A2 AbEH-a AUA] o= A7

@ y=-3x2+1 @ y=-(x-1)
@ y=-2(x+2)2+1 @ y=2x-1)2+2

® y=-3(x+3)*+4



19, O)A@S y = 24 4 8x + 4 9] DI AL g AEELY

O Al 1 AHEHA @ A2, 3AHEH O Al 3AREH

@ Al 4 AHEH ® A 3, 4 AFEH



=

Ty=x%-4x+4 29 17

St
jm=

7

< °]

o
=

20. ¢t

= 0O



